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(1/1) 4
120BN0120 [ 55 55

m (m) (kN/_) (m) (m) (kN/_) m (m) (kN/_) (m) (kN/_)

100kN/ 1.00 | 0.00 2.07 136.28 |3m 0.00 117 | 354 15.58 | 100kN/ 1.00 [13.49 4540 136.28 |3m 30.00 4540 | 354 15.58

1.00 | 2.07 8.75 100.00 1.17 8.75 1 3.00 13.20 1.00 | 5.00 13.49 100.00 5.00 30.00 | 3.00 13.20

100kN/ 1.00 | 0.00 2.39 14228 |3m 0.00 133 | 365 16.05 | 100kN/ 1.00 [12.88 4521 14228 |3m 25.00 4521 | 3.65 16.05

1.00 | 2.39 9.08 100.00 1.33 9.08 | 3.00 13.20 1.00 | 5.00 12.88 100.00 5.00 25.00 | 3.00 13.20

100kN/ 1.00 | 0.00 2.56 145.50 [3m 0.00 144 | 372 16.39 | 100kN/ 1.00 [12.67 44.89 145.50 [3m 25.00 4489 | 3.72 16.39

1.00 | 2.56 9.25 100.00 144 9.25 | 3.00 13.20 1.00 | 5.00 12.67 100.00 5.00 25.00 | 3.00 13.20
100kN/ 3m 100kN/ 3m
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